@ rObOt RG2-FT QUICK START GUIDE

Congratulations on your new RG2-FT Industrial Robot Gripper!!

Scope of delivery for standard RG2-FT gripper

@) RG2-FT Industrial Robot Gripper

? ? © RG2-FT Single Mounting Bracket
@ RG2-FT Standard Fingertips

) onRobot USB drive
© onRobot Compute Box (CB)
o UTP cable (RJ45 - RJ45)-0.5m

~ 1/_/
\,/)
? . @ CAN cable-5m
) Compute BOX power cable—1m

Accessories
@ cable Gland-PG16
o T20 Torx L-key (for M6 and M4 screws)
? @ T6 Torx L-key (for M2 screws)
Plastic bag — mounting parts, containing:
o M6x8 Torx screws (4 pcs)
Q M4x8 Torx screws (6 pcs)
) cable holder
o Plastic bag — spare parts, containing:
o M6x8 Torx screws (2 pcs)
o M4x8 Torx screws (2 pcs)
o M2x6 Torx screws (4pcs)

_°
\

The RG2-FT User Manual is enclosed in the USB stick

Getting started
® Togetstarted follow the steps in page 2-3-4

WARNING: It is important that the user/implementer of this product has understood
the RG2-FT and the Universal Robots User Manuals before connecting the gripper.

Update your RG2-FT functionalities

In the future, new functionalities will be released.

Check regularly www.onrobot/support/ to get the latest:

® RG2-FT Software Package
® RG2-FT User Manual

V1.3 Copyright © 2018 by OnRobot A/S. All rights reserved Page 1 of 4



1 Mount RG2-FT

1. Place the bracket @ on the robot flange

2. Tighten M6 screws (4 pcs) ®

3. Place RG2-FT®on the bracket @ as shown
on the image
4. Tighten M4 screws (6pcs) @

5. Connect the RG2-FT cable ® to the Gripper

2 Install RG2-FT Software

6. Fix the RG2-FT cable to the robot with the
cable holder®

7. Connect the RG2-FT cable ® to the Compute
Box @

8. Use the cable ® to connect the Compute Box @
to the robot controller

9. Use the cable @ to power the Compute Box @
from the robot controller

PolyScope Robot User Interface e

Package

UNIVERSAL
ROBOTS

UNIVERSAL ROBOTS

1. With the system powered on, insert
the USB stick into the teach pendant

2. To confirm the installation process
press “Install”

3. Wait for system to reboot
(it can take a while — approx. 1min)

4. Press “Go to initialization screen”
5. Press “ON"
6. Press “START"

7. Press “OK” —the installation is finished

V13

obot
ot

PolyScope Robot User Interface

(9]

Copyright © 2018 by OnRobot A/S. All rights reserved

Please select

ENIVEHSI\L

Make sure that the instals & green fcon to nialze the fobo.
Robor
Current Payioad
@ START [} @ OFF
warning! s 2)
Initialize Robot
Installstion il Make sure that the installation and payload are correct and press the button with the green icon to initialize the robot.

3D View
Q] e Robot @ Normal

3D View
a|e

cccccccccc

Page 2 of 4



3 Connect to RG2-FT

o File ez ccce @ LED status at normal operation

Program | Installation | Move | /0 | Log |
TcP cmfigura:iono OnRobot FT Setup o[} @robot

2

Mounting

Selected IP address 0
192.168.1.1
/O Setup Discovered devices
]
192.168.1.1 - HEXSAOL3
Qs sarety status \ H®;
/ariables Sarisl Nitar ‘ Disable All Features a — G
MODBUS 18054002 : | Y
| Disable Advanced Features ‘ \ P N
Foaturen Sensor system health : e ETHER,
s g L Disable Overlay ‘ o i
100l Compute Box Version t. = \
|Conveyor Tracking 3.3.0rc2 o 5 ‘
EtherNet/IP UR Robot 1P [#] Hold Handguide Enable button e o |
192.168.1.105 /
Hand Guide Timeout ® o /
ikt UR Robot Subnet Mask il /
obot Subnet Masl - — ke, &
255.255.255,0 REBS: 192.167
OnRobot FT Setupb /S
Unsaved changes will be lost after reboot —
|Default Program g 1
(=] Lnad/SauE
Q_ Steady green

- Flashing green

1. Press the “Installation” tab

2. Press “OnRobot FT setup”

3. Select the RG2-FT from the “Discovered devices”
If there is only one available device it will connect automatically

4. Wait for the green signal

5. Press “Load/Save” to save settings. Your RG2-FT is ready to use!

4 Add an RG2-FT Node - e.g. F/T Width control

Q File 10:55:20 Cccc @ @ File 10:58:30 cccc @
Prograﬁr Installation | Move | /0 | Log Program | Installation | Move | yO | Log
<unn & | Graphics | Strunureké Variables | <unnameds C | Graphics | Structure | variables |
7 Robot Program ¥ Robot Program b
= <empty> Program Structure EGZr = BT Wigth(0) F/T W&
Command name
Set placement of nods ] robot
Insert = = = =
Basic | Advanced | Wizards | URCaps | = = —
L 1L xS | [<] - L - > -> -
o 9 & N
‘ RIS | ‘ e ,? Q’ [ ] Depth compensation OFF
e wll Mo o
| W (mm) |
‘ | ‘ | current width < > & L
FIT Move FIT Zero S W =59.6 mm - - Coach o EROCOR o
1. X
. W (Width)
=  (Force) D Do o
N s & =
Edit Lo Qo =
[ #moe || Ccopy || Paste | [ suppress | []set payload 3 o =
kg & 2 :
| & Move ‘ | cut ‘ ‘ Delete ‘ # Longtouch
SR CICV R

@ simulation ?
O renraie: MO [ ] spees ——Droon @ omiton  iga B[ BA] M| speet ———Cr00x

1. Press the “Program” tab 4. Press “F/T Width”
2. Press the “Structure” tab 5. Press “Command” tab

3. Press the "URCaps” tab

V13 Copyright © 2018 by OnRobot A/S. All rights reserved Page 3of 4



5 Open/Close the RG2-FT with the F/T Width node

Q File 17:38:34 CCcCC @
[Program | Installation | Move | /0 | Log |
<unnamed=> (Command~N ics | Structure | Variables |
¥ Robot Program i -
= F/T Width(0) F/T Width

Command name

Current w1dth
W= 100 5 mm
W (Width) @
[ ofmm [ ] Automatic centering OFF

D

F (Force) Pey = =

o O a @ = @y
= {HE S o

[] Set payload @ ’

lnj 36t Riic G 1. 2 3.

kg

Q= =

O Simulation i |
[ s

o Real Robot

— 54% \ 4 Previous ‘[ Next B

1. Press the “Command” tab

Method 1

A2. The “Current width” shows actual width of the RG2-FT
A3. Set the desired RG2-FT “W(Width)”

A4. Long press the Play button to execute command

Method 2
B2. Open the RG2-FT by using the button (hold-to-run)
B3. Close the RG2-FT by using the button (hold-to-run)

B4. Press the Save button to save the gripper actual width in the current node (Optional)

Functions valid for both methods

5. Set the F(Force)

6. Set the Payload (workpiece weight)

7. Enable or disable “Depth Compensation” (See functionality in User Manual 3.3.1)
8. Enable or disable “Automatic centering” (See functionality in User Manual 3.3.1)

NOTE:
Afterinstallation, example programs are available on the robot, in

the following folder Programs/OnRobot_UR_Programs

V13 Copyright © 2018 by OnRobot A/S. All rights reserved Page 4 of 4



